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Q6. __________ is the synonym of "ASPIRE". 
 

A. Uncertain B. Doubt 

C. Hope D. Decline 

 

Q7. __________ is the antonym of "ALLY". 
 

A. Rival B. Group 

C. Supporter D. Affiliate 

 

Q8. Identify the meaning of the idiom in the sentence. 
"Let's do a dry run before the final performance" 

 

A. Rehearsal B. Quick match 

C. Prepare D. Take a deep breath 

 

Q9. Sentence given below may contain one or more mistakes. Identify the correct sentence. 
"Parents should tell childs about there responsibilities." 

 

A. Parents should tell children about their 

responsibilities. 

B. Parents should tell children of there 

responsibilities. 

C. Parents should tell childs about their 

responsibilities. 

D. Parents should tell childs about there 

responsibilities. 

 

Q10. Complete the sentence by choosing the correct form of the verb given in brackets. 
Don't forget to give me a call when you ___________ (go) to the gym. 

 

A. gone B. have gone 

C. went D. go 

 

Q11. 1942 witnessed the _______, which is an important milestone in the Indian Freedom 
Struggle. 

 

A. Civil Disobedience Movement B. Jallianwala Bagh Massacre 

C. Quit India Movement D. Salt Satyagraha 
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Q11. 1942 /O _______ AI� .? �K �? .?1-I0 }=-�}-? @�्䵇?/ /O �? /Aत⑍=+K}ण /Iल ?? +त⑍.1 AP। 
 

A. A=?)0 
?_? ��.Kल) B. �;ल0?�??ल? -?� )1A�B?1 

C. .?1, �K)K ��.Kल) D. )/� Aत⑍0?्䵇B 
 

Q12. WhatsApp and _______ have decided to work together to impart digital literacy for 
curbing the menace of fake news before the general elections. 

 

A. National Association of Software and Services 

Companies (NASSCOM) 

B. Infosys 

C. Tata Consultancy Services (TCS) D. Wipro Technologies 

Q12. }A?�M@�+ �1 _________ )O, �/ �J)?=ो䬂 @O +AलO, ,�I ख़-1ो䬂 ?O  .0 @O �)+�)O -.? �ि���ल @?�1-? �/?) ?1)O ?O  �ल�, @?. 
�/ल?1 ??/ ?1)O ?? ,P @ल? �?0? AP। 

 

A. )O?)ल एAK;Aए?) ऑफ़ AIo�?O1 ए�! A=??A �� +))0ो䬂 B. �)फ़K;AA 

C. �?�? �� Aल㉍�े䜂AI A=??AO� D. =?�K �O])KलI�Iज़ 

 

Q13. Who is India's current Union Minister for Environment, Forest and Climate Change? 
 

A. Prakash Javadekar B. Rajyavardhan Singh Rathod 

C. Piyush Goel D. Uma Bharati 

Q13. .?1- ?O  =-ण/?) ?O �I0 +0?ण=1}, =) �1 �ल=?0J +र1=-ण) /�}I ?L) Aै䠂? 
 

A. ��?? �??)O�1 B. 1?जᱍ0?}?) ;A�B 1? L) 

C. +I0@ू �K0ल D. �/? .?1,I 
 

Q14. Which of the following members of Gram panchayat is a non-elected representative? 
 

A. Panch B. Sarpanch 

C. Secretary D. Sahayak 

Q14. ्䵇?/ +��?0- ?O  �)म⹍)�ल�?- /O @O ?L) @? @/}0 �? �P1-�)=?ण��- ��-�)�? AP? 
 

A. +�� B. A1+�� 

C. A��? D. AB?0� 
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Q15. Haryana came into existence as ______ state of Indian Union. 
 

A. 15th B. 16th 

C. 17th D. 20th 

Q15. Aर10?}?, .?1-I0 @�  ?O  ______ 1?जᱍ0 ?O  z+ /O 
�}-त⑍= /O �0?। 
 

A. 15?े䜂 B. 16?े䜂 

C. 17?े䜂 D. 20?े䜂 
 

Q16. __________ was Haryana state's first regional party that was formed within six months of 
formation of Haryana state 

 

A. Vishal Haryana Party B. Indian National Lok Dal 

C. Haryana Janhit Congress D. Haryana Republican Party 

Q16. __________ Aर10?}? 1?जᱍ0 ?ी +AलI �O}I0 +?�I .I ��@?? � ) Aर10?}? 1?जᱍ0 ?O  � ) ?O  �� /AI)O ?O  .I-1 �?0? �0? .?। 
 

A. =???ल B910?+? +?�I B. .?1,I0 1?�रI0 लK� .ल 

C. B910?+? �)9B, �?�्䵇OA D. B910?+? 91+m;ल�) +?�I 
 

Q17. The assassin of Mahatma Gandhi, Nathuram Godse, was hanged at ____________ Central 
Jail. The city is also known as the city of scientific instruments. 

 

A. Surajkund B. Karnal 

C. Ambala D. Hisar 

Q17. /A?त⑍/? �?�?I ?O  Aत⑍0?1O, )?.K1?/ �Kि@O ?K ____________ @O्䵏ल �Oल /O ,?�@I /I �� .I। �@ >A1 ?K =P_?�)? �+?1}ो䬂 ?? 
>A1 .I ?A? �?-? AP। 

 

A. A1ू�� � ! B. �1)?ल 

C. 
म⹍-?ल? D. 9BA?1 
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Q18. In the Asian Games 2018, held in Jakarta-Palembang, Vinesh Phogat won a gold in 50 kg 
freestyle wrestling. Vinesh belongs to ________ district in Haryana. 

 

A. Jind B. Panipat 

C. Bhiwani D. Sirsa 

Q18. �??-?ण-+?लO/-�� /O �0K��-, 2018 ��>0?� ?Oलो䬂 /O, �=)O> ,K�� )O 50 �?लK्䵇?/ ्䵛ी}�?�ल ?J �-I /O }=}ण +/? �I-? .?। �=)O> 

Aर10?}? ?O  __________ ��लO ?O  1A)O =?लO Aै䠂| 
 

A. �I�. B. +?)I+, 

C. ;.??)I D. ;A1A? 
 

Q19. Why was Post Graduate Institute of Medical Sciences (PGIMS) in Rohtak recently (March 
2019) in the news? 

 

A. Breakthrough research in cancer-causing cells B. Medical negligence during surgeries in the 

Ophthalmology department 

C. Vans for free medical checkup camps in rural 

villages were donated 

D. Part of the new building was inaugurated 

Q19. ?J � �/)ो䬂 +AलO (/?�ण-2019),+K}� ्䵇O�J�� ��}�I�M0K� �, /O�ि?ल @?��@, 1KA-? ख़-1ो䬂 /O �?@ =�A @O .?? 
 

A. �ै䠂 A1-�?1� �K;?�?�� /े䜂 ))+??0� 
) A�}?) B. )P}ि�I =?.?� /े䜂 A�?1I �O  .L1?) ����त⑍AI0 �+O�? 

C. ्䵇?/I+ �Oिो䬂 /े䜂 / o, ����त⑍A? �?�� ;?=?1 �O  ;लए ?P) .?) 

/े䜂 .I �0I -I 
D. )ए .?) �O  9B}AO �? �द♍ ?�) ��0? �0? -? 

 

Q20. As on 14-November-2019, who is Haryana’s Minister for Skill Development and 
Industrial Training? 

 

A. Dr. Banwari Lal B. Shri Nayab Singh 

C. Smt Kavita Jain D. Shri Mool Chand Sharma 

Q20. 14-)=�-1 -2019 -?, Aर10?}? ?? ?L>ल �=??@ �1 �oK��? ��>�} /�}I ?L) AP? 
 

A. !I. -)??1I ल?ल B. ्䵦I )?0- ;A�B 

C. ्䵦I/,I �=?,? �P) D. ्䵦I /लू ��. ?/?? 
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Q21. A 64-feet-tall statue of Deenbandhu Sir Chhotu Ram was unveiled recently at 
___________, Rohtak. 

 

A. Anwal B. Sampla 

C. Basantpur D. Jasia 

Q21. /I)-�?J @1 �K�K 1?/ ?ी 64 ,ी� �� �I ��-/? ?? A?ल AI /O,______, 1KA-? /O 
)?=1} �?0? �0? .?। 
 

A. ��?ल B. A�+ल? 

C. -A�,+ 1 D. �;A0? 
 

Q22. The proposed anti-terrorist force, comprising of fit police personnel trained by the NSG 
will be called _______. 

 

A. Karna B. Vajra 

C. Kavach D. Dhanush 

Q22. �}-?�=- �-�?=?/-1K?I -ल, ��@/O NSG �?1? ��>��- 0K_0 +J�ल@ ?�/ण0ो䬂 ?K >?�/ल �?0? �?��?, �न⡍AO _______ ?O  )?/ @O 
�?)? �?��?। 

 

A. �+? B. ?्䵌 

C. �?� D. }) @ 

 

Q23. Dada Lakhmi Chand has been given the honour of _________ of Haryanvi Raagni and 
Saang. 

 

A. Surya Kavi B. Rashtra Gayak 

C. Raagni Sher D. Asthana Kavi 

Q23. /?/? ल?/I ��/ ?K Aर10?}=I 1?�)I �1 @?�� ?O  _________ ?? @म⹍/?) �/0? �0? AP। 
 

A. A0ू? �=? B. 1?�रI0 �?0� 

C. 1?�)I ?O1 D. 
}-?)? �=? 
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Q24. __________, Indian composer and playback singer from Haryana, became famous for the 
song "Emptiness" also known as "Tune mere jaana". 

 

A. Sonu Nigam B. Chand Verma 

C. Surendra Verma D. Gajendra Verma 

Q24. __________, Aर10?}? ?O  1A)O =?लO .?1-I0 @��I-??1 �1 +?ቦ暚ण �?0?, "�म⹍M�I)O@" �?)O ?O  �ल� />AJ1 AK �� ��@O "-K)O /O1O 
�?)?" ?O  )?/ @O .I �?)? �?-? AP। 

 

A. AK)ू ))�/ B. �?�. ?/?? 

C. A 1े䜂्䵖 ?/?? D. ��े䜂्䵖 ?/?? 
 

Q25. Which of these awards is NOT related to literature? 
 

A. Guru Vashisht Award B. Mahrishi Vedvyas Award 

C. Babu Balmukund Award D. Pt Laxmichand Award 

Q25. �)/O @O ?L) @? +J1}??1, @?�Aत⑍0 @O @�-��?- )AK AP? 
 

A. � y ??;?�  + 1}�?1 B. /B=@? ?O.}0?A + 1}�?1 

C. -?-ू -?ल/ � � . + 1}�?1 D. +�)!, लቌ䲚/I��. + 1}�?1 
 

Q26. Hathni Kund Barrage (Dam) is built across ______ river. 
 

A. Ghaggar B. Ganga 

C. Ravi D. Yamuna 

Q26. A.)I ?J� ि -P1?� (-?�?) ______ )/I ?O  �?)?1O -)?0? �0? AP। 
 

A.  _�1 B. ���? 

C. 1?I D. 0/ )? 
 

Q27. Which amongst the following is NOT the Kharif crop of Haryana? 
 

A. Corn B. Jute 

C. Bajra D. Groundnut 
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Q27. �)/O @O ?L) @I ,@ल, Aर10?}? ?ी ?1I, ?ी ,@ल )AK AP? 
 

A. /]�? B. ��ू 

C. -?�1? D. /ू��,लI 
 

Q28. Dhosi Hills lie both in Haryana and Rajasthan. It is in which district of Haryana? 
 

A. Faridabad B. Rewari 

C. Palwal D. Mahendragarh 

Q28. ?K@I +A?)I, Aर10?}? �1 1?�}.?) /K)ो䬂 1?जᱍ0ो䬂 /O �}.- AP। 0A Aर10?}? ?O  �?@ ��लO /O �}.- AP? 
 

A. ,1I.?-?. B. 1O??)I 

C. +ल?ल D. /Bे䜂्䵖�? 

 

Q29. Which one of the following is NOT the geographical feature of Haryana? 
 

A. Yamuna-Ghaggar Plain B. Shivalik Hills 

C. Semi Desert Plain D. Dhauladhar range 

Q29. �)/O @O ?L) @I �=>O?-?, Aर10?}? ?ी .L�K�ल? �=>O?-? )AK AP? 
 

A. 0/ )?- _�1 �? /P.?) B. ;???;ल� �I +B?))0?� 

C. 
द♍?}-1O��},?)I /P.?) D. }Lल?}?1 +??,/?ल? 
 

Q30. Which winds in Haryana are responsible for rainfall between June and September? 
 

A. South-Western Monsoon Winds B. North-Eastern Monsoon Winds 

C. North-Western Monsoon Winds D. South-Eastern Monsoon Winds 

Q30. Aर10?}? /O �?@ A=? ?O  ??1} �K) �1 �@-म⹍-1 ?O  -I� -?र1> AK-I AP? 
 

A. .्䵌�+-+m��/I /?)Aू) B??ए� B. �्䵈1-+?ूI /?)Aू) B??ए� 

C. �्䵈1-+m��/I /?)Aू) B??ए� D. .्䵌�+-+?ूI /?)Aू) B??ए� 
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Q31. What is the age of retirement of high court judges in Haryana? 
 

A. 62 B. 60 

C. 58 D. 65 

Q31. Aर10?}? /O �चᩍ� न⡍0?0?ल0 ?O  न⡍0?0??I>ो䬂 ?ी @O=?�)=L�? ?ी �0J �?-)I AP? 
 

A. 62 B. 60 

C. 58 D. 65 

 

Q32. The ___________ of the states have similar powers and functions at the state level as that 
of the President of India at Union level. 

 

A. Governor of the state B. Chief Minister of the state 

C. Deputy Chief Minister of the state D. Leader of the opposition party 

Q32. 1?जᱍ0 }-1 +1 1?जᱍ0ो䬂 ?O  _____________ ?O  =AI 
�???1 �1 ??0ण AK-O Aै䠂 �K ?O � }-1 +1 .?1- ?O  1?�्䵏+�- ?O  AK-O Aै䠂। 
 

A. 1?जᱍ0 �? 1?जᱍ0+?ल B. 1?जᱍ0 �? / _0/�िI 

C. 1?जᱍ0 �? �+/ _0/�िI D. =?+�I +?�I �? )O,? 
 

Q33. The judges of Haryana high court are appointed by _________. 
 

A. Governor of Haryana B. Chief Minister of the Haryana 

C. Chief Justice of Supreme Court D. President of India 

Q33. Aर10?}? �चᩍ� न⡍0?0?ल0 ?O  न⡍0?0??I>ो䬂 ?K _________ �?1? �)0J्䴹 �?0? �?-? AP। 
 

A. B910?+? �? 1?जᱍ0+?ल B. B910?+? �? / _0/�िI 

C. A?ोचᩍ� m0?0?ल0 �? / _0 m0?0?}I? D. .?1, �? 1?�र+), 

 

Q34. Which of the following is NOT a criterion to be eligible under the Dr. Ambedkar Medical 
Aid Scheme? 

 

A. Patient suffering from mental diseases B. Annual family income shall not exceed three 

lakh rupees 

C. Ailment which needs surgery D. Patients belonging to Scheduled Caste / 

Scheduled Tribe 
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Q34. �)म⹍) /O @O ?L) @? /?)/�ि, िQ. 
म⹍-Oि?1 ���?त⑍@? @A?0-? 0K�)? ?O  -A- +?} AK)O ?O  �ल� �? /?)/�ि )AK AP? 
 

A. /?);A� 1K� AO +I)), 1K�I B. ??=@?� +?91??91� �0 ,I) ल?� y+0O AO 
�}� )BI� BK�I 

C. -I/?1I m�A�O  ;लए ऑ+1O?) �1)O �I �z1, BP D. 
) A�ू�, �?), / 
) A�ू�, �)�?), AO A�-��}, 1K�I 
 

Q35. State flower of Haryana is _________. 
 

A. Marigold B. Gladiolus 

C. Lotus D. Rose 

Q35. Aर10?}? ?? 1?जᱍ0 ,K ल _________ AP। 
 

A. �े䜂.? B. �����?ल,? 

C. �/ल D. � ल?- 

 

Q36. Which one of the following is an example of Application software? 
 

A. Compiler B. Microsoft Word 

C. Interpreter D. Operating System 

Q36. �)म⹍)�ल�?- /O @O ?L)@? ��Mल?O >) @Qo�=O01 ?? �? �/?A1} AP? 
 

A. �म⹍+?�ल1 B. /?�्䵅KAIo� ?!? 

C. ए��1�O�1 D. ऑ+1O9��� ;A}�/ 

 

Q37. What is the objective of Devi Rupak Scheme in Haryana? 
 

A. To increase industrialization in Haryana. B. To introduce advanced methods of agriculture 

in Haryana. 

C. To educate every girl child in Haryana. D. To stabilize population growth in Haryana. 

Q37. Aर10?}? /O /O=I z+? 0K�)? ?? �oO�0 ]0? AP? 
 

A. B910?+? /े䜂 �द♍0K�I�1+ �K -??)?। B. B910?+? /े䜂 �ृ=@ �O  �m), ,1I�ो䬂 �K ल?�ू �1)?। 

C. B910?+? /े䜂 B1 ल)�I �K ;?्䵌�, �1)?। D. B910?+? /े䜂 �)A�_0? ?दृ♍�} �K m}-1 �1)?। 
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Q38. The ______ dance is done basically in the lunar month of Phalguna and is performed to 
celebrate the colourful festival of Holi. 

 

A. Gugga B. Phag 

C. Ghoomar D. Jhumar 

Q38. ______ )Lत⑍0 /Kल z+ @O ,?ल㉍�J) ?O  ���/?@ /O �?0? �?-? AP �1 AKलI ?O  1��I) त⑍0KA?1 ?K /)?)O ?O  �ल� �?0? �?-? AP। 
 

A. �K�? B. ,?� 

C.  ू/1 D. �/ू1 
 

Q39. What is the purpose of the option "Autocorrect" in Word? 
 

A. Checks the unwanted spaces between the 

words 

B. Checks the grammar and suggest the correct 

grammatical sentence 

C. Detects misspelled words and insert correct 

spelled word. 

D. Suggests the paragraph spacing of the 

sentences 

Q39. >m/ /O �=?ल㉍+ "��K ?1O]�" ?? �oO�0 ]0? AP? 
 

A. ?;.ो䬂 �O  -I� 
??�)�, }-?)ो䬂 �I �??� �1,? BP B. }0?�1+ �I �??� �1,? BP �1 ABI }0?�1++� ??]0 �? 
A �?? .O,? BP 

C. �ल, ?,?)I ??लO ?;.ो䬂 �? +,? ल�?,? BP �1 ABI ?,?)I 
??लO ?;. Amम⹍/;ल, �1,? BP 

D. ??]0ो䬂 �O  +P1?्䵇?, 91m], �K .???,? BP 

 

Q40. Find the odd-one out in the following: 
Skin, Nose, Tongue, Hair 

 

A. Nose B. Tongue 

C. Hair D. Skin 

Q40. �)म⹍)�ल�?- /O @O 
@��- ?? �0) ?1O: 
त⑍=�?, )??, �I., -?ल 

 

A. )?� B. �I. 

C. -?ल D. त⑍?�? 
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Q41. Choose the correct option that best expresses a relationship SIMILAR to that expressed in 
this pair: 
Vaccination: Body 

 

A. Injection : Disease B. Glasses: Frame 

C. Pesticide: Plant D. Medicine: Cure 

Q41. @AI �=?ल㉍+ �J)O, �K �)म⹍)�ल�?- �K)I �P@? @म⹍-न⡍? �/??-? AK: 
�I???1}: >1I1 

 

A. ���O]?): 1K� B. ��/?: ቸ硬O / 

C. �I�)??�: +L}? D. .??: �ल?� 

 

Q42. Fill in the missing term: 50, 55, 61, 68, _____ 
 

A. 76 B. 71 

C. 75 D. 73 

Q42. 
)J+�}.�- @�_0? .1O: 50, 55, 61, 68, _____ 
 

A. 76 B. 71 

C. 75 D. 73 

 

Q43. In a code language, if RHYTHM is coded as HRTYMH, then MUSICIAN will be coded 
as 

 

A. UIUSICAN B. UMSIICNA 

C. UMISICNA D. MUISCINA 

Q43. 0�/ �? ?Kि .??? /O RHYTHM ?K HRTYMH �ल?? �?-? AP -K MUSICIAN ?K ]0? �ल?? �?��?? 
 

A. UIUSICAN B. UMSIICNA 

C. UMISICNA D. MUISCINA 
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Q44. 

If  =1.732, then the value of  is 
 

A. 0.645 B. 0.447 

C. 0.365 D. 0.577 

Q44. 

0�/  = 1.732 AK -K  ?? /?) �?-)? AK�?? 
 

A. 0.645 B. 0.447 

C. 0.365 D. 0.577 

 

Q45. A dice is thrown once. Find the probability of getting an even number. 
 

A. 3/2 B. 1/6 

C. 1 D. 1/2 

Q45. �? +?@O ?K �? -?1 ,O ?? �0? AP। �? @/ @�_0? �/ल)O ?ी @�.?=)? --?��। 
 

A. 3/2 B. 1/6 

C. 1 D. 1/2 

 

Q46. The ratio between two numbers is 4 : 5. If their Least Common Multiple (L.C.M) is 180, 
find the numbers. 

 

A. 30, 45 B. 36, 45 

C. 45, 60 D. 54, 60 

Q46. /K @�_0?� � ?O  -I� ?? 
)J+?- 4 : 5 AP। 0�/ �)?? ल J?/ @/?+=-ण? (ल.@.+.- LCM) 180, AK -K /K)ो䬂 @�_0?� � ?? /?) 
�)??लO। 

 

A. 30, 45 B. 36, 45 

C. 45, 60 D. 54, 60 

 

Q47. John purchases 20 dozens of toys at the rate of Rs.225 per dozen. He sells each toy at the 
rate of Rs.25. What is his percentage profit? 

 

A. 45.23% B. 35.55% 

C. 33.33% D. 56.23% 
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Q47. �Q) 225 y+0O ��- /�ण) ?ी /1 @O 20 /�ण) �?लL)O ?1I/-? AP। =A �त⑍0O? �?लL)O ?K 25 y+0O ?ी /1 @O -O�-? AP। �@?? ल?. 

��->- �?-)? AP? 
 

A. 45.23% B. 35.55% 

C. 33.33% D. 56.23% 

 

Q48. What is the name of the device used to detect current in an electric circuit? 
 

A. Ammeter B. Voltmeter 

C. Wattmeter D. Galvanometer 

Q48. �? �=oJ- +र1+. /O �=oJ- ??1? ?? +-? ल�?)O ?O  �ल� �?@ �+?1} ?? �}-O/?ल �?0? �?-? AP? 
 

A. ए//I�1 B. ?Kल㉍�/I�1 

C. ??�/I�1 D. �Pल㉍?O)K/I�1 
 

Q49. How many atoms of oxygen are there in one molecule of ozone? 
 

A. One B. Three 

C. Two D. Five 

Q49. ��K) ?O  �? 
}J /O �]@I�) ?O  �?-)O +1/?}J AK-O Aै䠂? 
 

A. ए� B. ,I) 

C. .K D. +?�� 

 

Q50. Which of the following is NOT a part of the lungs? 
 

A. Bronchi B. Duodenum 

C. Bronchioles D. Alveoli 

Q50. �)म⹍) /O @O ?L), ,O ,)O ?? �? �A}@? )AK AP? 
 

A. m?��?� B. )!0K!O)/ 

C. m?����ल㉍A D. एmल㉍?0KलI 
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Q51. Which of the following bus determines the location where data or information should be 
sent? 

 

A. Data Bus B. Address Bus 

C. Control Bus D. System Bus 

Q51. �)म⹍)�ल�?- /O @O ?L) @I -@, �@ }.?) ?K �)??णर1- ?1-I AP, �A?? िO�? 0? @K�)? .O�I �?)I �?�A�? 
 

A. !O�? -A B. ए्䵑OA -A 

C. �� रKल -A D. ;A}�/ -A 

 

Q52. Which of the following memory helps to improve the performance by storing recent data 
and information? 

 

A. RAM B. ROM 

C. Cache D. Hard Disk 

Q52. �)म⹍)�ल�?- /O @O ?L) @I /O/K1I�, A?ल AI ?O  िO�? �1 @K�)?� � ?K @�्䵇AI- ?1 ?O , �/>ण) ?K -OA-1 -)?)O /O /// ?1-I Aै䠂? 
 

A. RAM B. ROM 

C. �P ? D. B?!? )!}� 

 

Q53. Cathode-Ray Tube is used for _____. 
 

A. Monitor B. Printer 

C. Plotter D. Scanner 

Q53. ?P .Kि-1O �M0K- ?? _____ ?O  �ल� �+0K� �?0? �?-? AP| 
 

A. /I))�1 B. =���1 

C. oलI�1 D. }�P )1 
 

Q54. What is the main function of operating system? 
 

A. It needs an environment to run and perform 

task. 

B. It's a hardware which operates the computer 

system. 

C. It acts as interface between the end user and 

computer hardware. 

D. It is just any other applications like MS word, 

Internet Explorer etc. 
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Q54. �+1O���� �@}�/ ?? /J_0 ??0ण ]0? AP? 
 

A. �AO �ल?)O �1 �?0? �1)O �O  ;लए ??,??1+ �I �?�0�,? 
BK,I BP| 

B. 0B ए� B?!??O01 BP �K �� o0�ू1 ;A}�/ �K A��?;ल, �1,? 
BP| 

C. 0B 
�, �+0K��,?? �1 �� o0�ू1 B?!??O01 �O  -I� ���1फ़O A �O  
z+ /े䜂 �?0? �1,? BP| 

D. �A�? �+0K�, ��AI .I एmoल�O ?) �O  z+ /े䜂 ��0? �? 
A�,? BP, �PAO ?!?, ���1)O� ए]AoलK11 �9.| 

 

Q55. A collection of related classes can be named as _____. 
 

A. Collection B. Abstract Class 

C. Interface D. Package 

Q55. @�-��?- =�ो䬂 ?O  @�्䵇A ?K_______ )?/ �/0? �? @?-? AP| 
 

A. A�्䵇B B. 
/,ू? ?�? 

C. ���1फ़O A D. +P�O � 

 

Q56. In which language instruction set commands are written? 
 

A. Programming Language B. Machine Language 

C. Assembly Language D. C/C++ Language 

Q56. �?@ .??? ?O  �)/O> @O� /O ?/?�िM@ �ल?O �?-O Aै䠂? 
 

A. �K्䵇?;/�� .?@? B. /?I) .?@? 

C. 
Aे䜂-लI .?@? D. C/C++ .?@? 
 

Q57. A low-level language which represents various instructions in symbolic code and a more 
understandable form is called: 

 

A. Programming Language B. Machine Language 

C. Assembly Language D. Algorithmic Language 

Q57. �? �)म⹍)-}-1I0 .??? �K �-I??त⑍/? ?Kि /O �=�.न⡍) �)/O>ो䬂 ?? ��-�)�?त⑍= ?1-I AP �1 �? 
�?? @/�)O 0K_0 z+ ?Aल?-I AP: 
 

A. �K्䵇?;/�� .?@? B. /?I) .?@? 

C. 
Aे䜂-लI .?@? D. एल㉍�K91-;/� .?@? 
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Q58. Which process manages the implementation, operation and maintenance of a physical or 
virtual device? 

 

A. Device Management B. Operation Management 

C. Configuration D. Installation 

Q58. ?L) @I ��ि0?, .L�-? 0? �.?@I �ि=?�@ ?O , ??0?णन⡍=0), @��?ल) �1 /O�O)O@ ?? �-�?) ?1-I AP? 
 

A. )!??�A �-�}) B. A��?ल) �-�}) 

C. =?m0?A D. }-?+)? 
 

Q59. Which of the following is not a criteria for scheduling? 
 

A. Turnaround Time B. Response Time 

C. Waiting Time D. Request Time 

Q59. �)म⹍)�ल�?- /O @O ?L) @?, }?O िM0K�ल�� ?? /?+/�ि, नही䀂 AP? 
 

A. �)?
1?�� ! �?�/ B. 1O}+ImA �?�/ 

C. ?O9��� �?�/ D. 91]?O}� �?�/ 

 

Q60. In the computer system, a number cannot be represented in _____. 
 

A. Binary B. Octal 

C. Unary D. Hexadecimal 

Q60. ?� M0K�1 �}?लI /O, _____ /O �? @�_0? ?? ��-�)�?त⑍= )AK �?0? �? @?-? AP। 
 

A. -?�)1I B. ऑ]�ल 

C. 0ू)1I D. BO]A?!O;A/ल 
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Q61. A situation where a set of processes are blocked because each process is holding a 
resource and waiting for another resource acquired by some other process can be named 
as: 

 

A. Synchronization B. Deadlock 

C. Blocked State D. Waiting State 

Q61. �@I �}.�- ?K ]0? )?/ �/0? �?-? AO, �A?� ��ि0?� � ?? �? @O� 
=yp AK �?-? AP, ]0ो䬂�? �त⑍0O? ��ि0?, �? @�@??) ?K +?) 

1AI AP �1 �?@I 
न⡍0 @�@??) ?ी �-I�? ?1 1AI AP, ��@O �?@I 
न⡍0 ��ि0? �?1?, 
�?्䵇�A- �?0? �0? AP: 
 

A. ;A�्䵅K)?��O?) B. !O!लI� 

C. ;लI]! }�O� D. ?O9��� }�O� 

 

Q62. What is the correct order of state of processes? 
 

A. 1. New 

2. Ready 

3. Run 

4. Wait 

5. Complete 

B. 1. Ready 

2. New 

3. Run 

4. Wait 

5. Complete 

C. 1. Ready 

2. New 

3. Wait 

4. Run 

5. Complete 

D. 1. Ready 

2. Wait 

3. New 

4. Run 

5. Complete 

Q62. ��ि0?� � ?ी �}.�- ?? @AI ि/ ]0? AP? 
 

A. 1. m0ू 
2. 1O!I 
3. 1) 

4. ?O� 

5. �म⹍+लI� 

B. 1. 1O!I 
2.m0ू 
3.1) 

4.?O� 

5.�म⹍+लI� 

C. 1. 1O!I 
2. m0ू 
3. ?O� 

4. 1) 

5. �म⹍+लI� 

D. 1. 1O!I 
2. ?O� 

3. m0ू 
4. 1) 

5. �म⹍+लI� 
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Q63. The process of breaking up the free memory space into smaller part is termed as 
_________. 

 

A. Memory Allocation B. Segmentation 

C. Fragmentation D. Partition 

Q63. /J्䴹 /O/K1I }+O@ ?K �K�O .?�ो䬂 /O -K))O ?ी ��ि0? ?K ____ ?A? �?-? AP । 
 

A. /O/K1I एलK�O ?) B. AO�/े䜂�O?) 

C. �O �/े䜂�O?) D. +?�I?) 

 

Q64. Which type of structure is used by directories to store files? 
 

A. Sequential B. Unorganized 

C. Sorted D. Hierarchical 

Q64. +?�लो䬂 ?K @�्䵇AI- ?1)O ?O  �ल� ि?01O]्䵏I� �?1? �?@ �??1 ?ी @�1�)? ?? �+0K� �?0? �?-? AP? 
 

A. ्䵅/-द♍} B. 
A��9 , 

C. AI�े! D. ्䵦O+I-द♍} 

 

Q65. Which of the following a problem with Concurrency? 
 

A. Producer Consumer B. Bounded Waiting 

C. Busy Waiting D. Deadlock 

Q65. �)म⹍)�ल�?- /O @O, '?Qन⡍?11Oन⡍@I' ?O  @?., ?L) @I @/}0? AP? 
 

A. �Kड⅍0Aू1 �� }0ू/1 B. -I�� !O! ?O9��� 

C. }-�I ?O9��� D. !O!लI� 

 

Q66. How to pass command line arguments in Java? 
 

A. javac ClassName.class arg1 arg2 B. java ClassName.class arg1 arg2 

C. javac ClassName arg1 arg2 D. java ClassName arg1 arg2 
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Q66. �+ �?=? /O ?/?�ि ल?�) -?ण  ?P @O +?@ ?1-O Aै䠂? 
 

A. javac ClassName.class arg1 arg2 B. java ClassName.class arg1 arg2 

C. javac ClassName arg1 arg2 D. java ClassName arg1 arg2 

 

Q67. Which of the following is a sequential circuit? 
 

A. Encoder B. Multiplexer 

C. Demultiplexer D. Flip flop 

Q67. �)म⹍)�ल�?- /O @O ?L) @? �? 
)Jि�/? @�?ण � AP? 
 

A. ए)�K!1 B. /ल㉍�IoलO]A1 

C. !I/ल㉍�IoलO]AO1 D. moल+ oलI+ 

 

Q68. Which problem arises due to multiple inheritance in C++? 
 

A. Deadlock B. Diamond problem 

C. Dining Philosopher Problem D. Lock synchronization problem 

Q68. C++ /O, /ल㉍�I+ल �)AOर1�O@ ?O  ??1}, ?L) @I @/}0?, �त⑍+न⡍) AK-I AP? 
 

A. !O!लI� B. !?0/�! A/}0? 

C. !?�))�� �,लKAK,1 A/}0? D. लI� ;A�्䵅K)?��O?) A/}0? 
 

Q69. How runtime polymorphism is implemented in C++? 
 

A. Using method overloading B. Using operator overloading 

C. Using abstract classes D. Using virtual functions 

Q69. C++ /O, 1)�?�/ +QलI/Q1�,}/ ?K, �?@ �??1 ??0?ण�न⡍=- �?0? �?-? AP? 
 

A. �?1लK)! �� =?�} �? �+0K� �1�O  B. ऑ+1O�1 �?1लK)! �� �? �+0K� �1�O  

C. 
/,ू? ?�ो䬂 �? �+0K� �1�O  D. �.?AI �?0ो䬂 �? �+0K� �1�O  
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Q70. Using which of the following memory, the performance would be faster? 
 

A. Registers B. Cache 

C. Main memory D. Virtual Memory 

Q70. �)म⹍)�ल�?- /O @O ?L) @I /O/K1I� �?@I />I) ?O  �/>ण) ?K -O� ?1-I AP? 
 

A. 1m�}�A? B. �P ? 

C. /P) /O/K1I D. ?� ?
ल /O/K1I 
 

Q71. Wrapping up of data under a single unit is called as: 
 

A. Encapsulation B. Abstraction 

C. Polymorphism D. Inheritance 

Q71. �?@I �@��ल 0K�)� ?O  -A- िO�? ?K ल+O�)O ?K ?A? �?-? AP: 
 

A. एm�?oA लO?) B. ए;AरP]?) 

C. +IलI/I1�,}/ D. �)BO91�े䜂A 

 

Q72. On which concept inheritance works? 
 

A. Data hiding B. One object, multiple forms 

C. Reusability D. Interfaces 

Q72. �)AOर1�O@ �?@ @�?ल㉍+)? +1 ?? ??/ ?1-? AP? 
 

A. !O�? BP)! �� B. ए� ऑ;�O]�, �� z+ 

C. + )�?0K� D. ���1,O A 

 

Q73. Objects communicate with one another by sending and receiving information to each 
other. This process is termed as: 

 

A. Message Passing B. Object Passing 

C. Method Passing D. Parameter Passing 
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Q73. �m�O]�@ �?-/K@1O ?O  @?. �?-/K@1O ?K @K�)? .O�-O �1 �?्䵎 ?1-O AI� @�=?/ ?1-O Aै䠂। �@ ��ि0? ?K ?A? �?-? AP: 
 

A. /OAO� +?;A�� B. ऑ;�O]� +?;A�� 

C. /O-! +?;A�� D. +P1?/I�1 +?;A�� 

 

Q74. Which of the following is arranged in the correct order of scope of the access specifiers? 
 

A. default 

public 

protected 

private 

B. default 

public 

private 

protected 

C. public 

default 

protected 

private 

D. public 

private 

protected 

default 

Q74. �)म⹍)�ल�?- /O @O ?L), �]@O@ }+O�@+?0�@ण ?O  /?01O ?O , @AI ि/ /O }0=�}.- AP? 
 

A. )!फ़Iल㉍� 

+m;ल� 

�K�O]�O! 
�?�?O� 

B. )!फ़Iल㉍� 

+m;ल� 

�?�?O� 

�K�O]�O! 

C. +m;ल� 

)!फ़Iल㉍� 

�K�O]�O! 
�?�?O� 

D. +m;ल� 

�?�?O� 

�K�O]�O! 
)!फ़Iल㉍� 

 

Q75. What does ATL in ActiveX control stands for? 
 

A. Active Test Library B. Active Template Library 

C. Active Tools Library D. ActiveX Template Library 

Q75. ��]�= X �)0�}} /O ATL ]0? AP? 
 

A. एm]�? �O}� ल?�mO1I B. एm]�? �Oम⹍+लO� ल?�mO1I 

C. एm]�? �ूल㉍A ल?�mO1I D. एm]�? �Oम⹍+लO� ल?�mO1I 
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Q76. Which of the following cursor type in ADO can move to any record in the recordset? 
 

A. Forward Only B. Static 

C. Dynamic D. KeySet 

Q76. ADO /O, �)म⹍)�ल�?- /O @O, ?L) @O �??1 ?O  ?@ण1, 'र1?Qिण@O�' ?O  �?@I .I र1?Qिण /O �? @?-? AP? 
 

A. ,I1?!? �mलI B. }�P9�� 

C. !?0)?;/� D. �IAO� 

 

Q77. Which of the following is correct about Visual Basic? 
 

A. Case sensitive B. Supports only unstructured data handling 

C. 'Using' is used to release unmanaged resources D. Optional Parameters are accepted 

Q77. �=�J
ल -O�@? ?O  -?1O /O �)म⹍)�ल�?- /O @O ?L) @? @AI AP? 
 

A. 0B A�?O.)?Iल /?/ल? BP| B. 0B �O ?ल 
A�1��, !O�? Bै䠂!;ल�� �? A/-?) �1,? BP| 

C. �/?�! 0mू��� '�? �+0K� 
�-��}, A�A?})ो䬂 �K �?1I �1)O 
�O  ;लए ��0? �?,? BP| 

D. 0B �O ?ल ?P�mल㉍+� /?+.�!ो䬂 �K }?I�?1 �1,? BP| 

 

Q78. Which type of programming language Visual Basic is? 
 

A. Event driven B. Domain specific 

C. Scripting D. Low level language 

Q78. �=�J
ल -O�@? �?@ �??1 ?ी �K्䵇?�/�� .??? AP? 
 

A. �?े䜂� )्䵑?) B. !K/O) }+O;A�,� 

C. m}्䵅mo��� D. ))म⹍) },1 �I .?@? 
 

Q79. Which of the following is not the type of JIT in Visual Basic? 
 

A. Pre-JIT B. Post-JIT 

C. Econo-JIT D. Normal JIT 
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Q79. �)म⹍)�ल�?- /O @O ?L) @? �=@J
ल -O�@? /O JIT ?? �? �??1 )AK AP? 
 

A. �I-JIT B. +K}�-JIT 

C. ए�K)K-JIT D. )I/?ल-JIT 

 

Q80. Abstract class A has 3 abstract methods. Abstract class B defines only 1 of those methods 
as it extends class A. Class C extends class B and implements the other two methods of 
class A. Which one among following is correct? 

 

A. Code would compile because all the methods 

are not defined by B 

B. Code would compile because C is not inheriting 

A directly 

C. Code would compile as multiple inheritance is 

used 

D. Code would compile because all the methods of 

class A are implemented by B and C 

Q80. �? �-}्䵏?]� =�ण A /O 3 �-}्䵏?]� �=�?0?? Aै䠂| �-}्䵏?]� =�ण B, �) �=�?0ो䬂 /O @O ?O =ल 1 ?K +र1.?�?- ?1-? AP ]0ो䬂�? 0A =�ण 
A ?K �=}-?र1- ?1-? AP| =�ण C =�ण B ?? �=}-?1 ?1-? AP �1 =�ण A ?O  
न⡍0 /K -1I?ो䬂 ?K ल?�K ?1-? AP| �- �+ �@ +र1o�0 ?O  
@?. @�?ल) ?1-O Aै䠂, -K �)म⹍) /O @O ?L) @? AK)O ?ी @�.?=)? AP? 

 

A. �K! A��;ल, �1O�? ]0ो䬂�� A.I =?�}0?� B द♍??1? +91.?=@, 

)BI� Bै䠂| 
B. �K! A��;ल, �1O�? ]0ो䬂�� C AI}O A �K =?1?A, /े䜂 )BI� 
;/ल? BP| 

C. �K! �K A��;ल, ��0? �?ए�? ]0ो䬂�� ए�?�}� ?�??) ्䵅/ 

�? �+0K� ��0? �?,? BP| 
D. �K! A��;ल, �1O�? ]0ो䬂�� ��? A �O  A.I ,1I�ो䬂 �K B 

�1 C द♍??1? ल?�ू ��0? �?,? BP| 
 

Q81. What is true about decomposition into modules? 
 

A. Increases complexity B. Decreases collaboration 

C. Makes it easier to test D. Increases duplication of code 

Q81. /QिM0Kल /O 
+ �) ?O  -?1O /O ]0? @� AP? 
 

A. �AAO �9�ल,? -?,I BP| B. �AAO AB0K�  �,? BP| 

C. 0B +1I�+ �1)? �A?) -)?,? BP| D. 0B �K! �O  ! oलI�O ?) �K -??,? BP| 
 

Q82. What happen if static method is declared in abstract class? 
 

A. Execute successfully B. Compilation error 

C. Run time error D. Error when inherited by another class 
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Q82. �? �}.1 =�ण /O �? �m}्䵏P]� =�ण ?K  K�?- ?1)O +1 ]0? AK�?? 
 

A. 0B A,ल,?+?ू?� ए]AI]0�ू BK�? B. 0B ए� A��ल) ि 9� .O�? 

C. 0B 1)-�?�/ ए11 .O�? D. .Aू1I ��? द♍??1? =?1?A, /े䜂 ;/ल)O +1 ि 9� 

 

Q83. import static java.lang.System.*; 
 
 
class Test { 
 
public static void main(String args[]) { 
 
out.println("Test class executed"); 
 
} 
 
} 
 
 
What will be output of above code? 

 

A. Compilation error B. Runtime error 

C. Test class executed D. No output. Only execute without errors 
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Q83. import static java.lang.System.*; 
 
 
class Test { 
 
public static void main(String args[]) { 
 
out.println("Test class executed"); 
 
} 
 
} 
 
 

�+1K्䴹 ?Kि ?? ���+J� ]0? AK�?? 
 

A. A��ल) ि 9� B. 1)�?�/ ि 9� 

C. �O}� ]ल?A ए]AI]0�ूO! D. �K� ���+ � )BI� BK�?| �O ?ल ि 9�0ो䬂 �O  }-)? ))�+?9., 

�1े䜂| 
 

Q84. Which of the following is not a direct pointing device? 
 

A. Touchpad B. Touch screen 

C. Mouse D. Joy stick 

Q84. �)म⹍)�ल�?- /O @O ?L), ि?01O]� +Q������ �ि=?�@, नही䀂 AP? 
 

A. ��+P! B. �� }्䵅I) 

C. /?�A D. �I0 m}�� 

 

Q85. How to represent a negative in Sign magnitude? 
 

A. The first bit will represent sign. Sign bit '1' 

represents negative sign. 

B. The first bit will represent sign. Sign bit '0' 

represents negative sign. 

C. The last bit will represent sign. Sign bit '1' 

represents negative sign. 

D. The last bit will represent sign. Sign bit '0' 

represents negative sign. 
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Q85. �+ @?�) /P�)I�M0Kि /O �? )O�O��= ?? ��-�)�?त⑍= ?P @O ?1-O Aै䠂? 
 

A. +Bल? }-� A?�) �? �),))�}त⑍? �1O�?| A?�) }-� '1' 

)O�O9�? A?�) �? �),))�}त⑍? �1O�?| 
B. +Bल? }-� A?�) �? �),))�}त⑍? �1O�?|A?�) }-� '0' 

)O�O9�? A?�) �? �),))�}त⑍? �1O�?| 

C. ��1I }-� A?�) �? �),))�}त⑍? �1O�?| A?�) }-� '1' 

)O�O9�? A?�) �? �),))�}त⑍? �1O�?| 
D. ��1I }-� A?�) �? �),))�}त⑍? �1O�?| | A?�) }-� '0' 

)O�O9�? A?�) �? �),))�}त⑍? �1O�?| 
 

Q86. Using which data type in C++, a user can write information to files and read information 
from files? 

 

A. if stream B. of stream 

C. f stream D. iof stream 

Q86. C ++ /O �?@ िO�? �??1 ?? �+0K� ?1?O , ?K� �+0K�?-?ण +?�लो䬂 /O �?)??1I �ल? @?-? AP �1,+?�लो䬂 @O �?)??1I +? @?-? 
AP? 

 

A. if }रI/ B. of }रI/ 

C. f }रI/ D. iof }रI/ 

 

Q87. What happens when user defines a parameterized constructor in Java and not default 
constructor? 

 

A. User needs to define default constructor also, 

else compiler will give error. 

B. No need to define default constructor. 

C. User needs to define default constructor also, 

else there will be error at run time. 

D. Defining default constructor is mandatory. 

Q87. ]0? AK�? �- ?K� �+0K�?-?ण Java /O �? +P1?/I�1 �)�/ण- ?� }्䵏]�1 ?K +र1.?�?- ?1-? AP �1 �ि+Qल㉍� ?� }्䵏]�1 ?K )AK? 
 

A. �� +?�ल1 ए� ि 9� 9.�?ए�?, ]0ो䬂�� �+0K��,?? �K )!फ़Iल㉍� 

�� }र]�1 �K .I, +91.?=@, �1)? BK�?। 
B. )!फ़Iल㉍� �� }र]�1 �K +91.?=@, �1)O �I �?�0�,? )BI� 
BP। 

C. �+0K��,?? �K )!फ़Iल㉍� �� }र]�1 +91.?=@, �1)O �I 
�?�0�,? BP, 

m0-? 1) �?�/ +1 ि 9� BK�I। 

D. )!फ़Iल㉍� �� }र]�1 �K +91.?=@, �1)? 
))??0? BP। 
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Q88. Which of the following is not true about destructor? 
 

A. Releasing the release locks. B. Closing all the database connections or files. 

C. Releasing all the network resources. D. Need to call externally. 

Q88. �)म⹍)�ल�?- /O @O ?L) �ि}्䵏]�1 ?O  -?1O /O @� नही䀂 AP? 
 

A. 0B 91लI� लI� �K 91लI� �1,? BP। B. 0B A.I !O�?-OA �)O]?) 0? फ़?�लो䬂 �K -�. �1 .O,? BP। 

C. 0B A.I )O�?�?  A�A?})ो䬂 �K 91लIज़ �1,? BP। D. �AO -?B1I z+ AO - ल?0? �?)? �?9Bए। 
 

Q89. What happens when class is inherited in protected mode? 
 

A. Public, private and protected members of the 

base class will become protected in derived class 

B. Public and protected members of the base class 

will become protected in derived class 

C. Public members of the base class will become 

protected in derived class 

D. Protected members of the base class will 

become private in derived class 

Q89. ]0? AK-? AP �- �? =�ण ?K @�1��- /Kि /O �न⡍AOर1� �?0? �?-? AP? 
 

A. -OA ?�? �O  A???�))�, ))�I �1 A�1्䵌�, A.}0, }0 त⑍+m) 

?�? /े䜂, A�1्䵌�, BK �?ए��O| 
B. -OA ?�? �O  A???�))� �1 A�1्䵌�, A.}0,}0 त⑍+m) ?�? /े䜂 
A�1्䵌�, BK �?ए��O| 

C. -OA ]ल?A �O  A???�))� A.}0 }0 त⑍+m) ?�? /े䜂 A�1्䵌�, BK 
�?ए��O| 

D. -OA ?�? �O  A�1्䵌�, A.}0 }0 त⑍+m) ?�? /े䜂 ))�I BK �?ए��O| 

 

Q90. Which of the following data type stores memory location or address of variables in C++? 
 

A. Pointer B. Index 

C. Double floating point D. TypeDef 

Q90. C++ /O, �)म⹍)�ल�?- /O @O ?L) @?, िO�? �??1 /O/K1I-लK?O >) 0? =Oर1�-ल㉍@ ?O  �्䵑O@ ?K }�K1 ?1-? AP? 
 

A. +I���A? B. ��!O]A 

C. !-ल oलK9��� +I��� D. �?�+!O, 
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